= #E3325E (2B) Tube Fitting (Black)

IS Lk
Long Elbow

B3I (Unit): m/m

B EHME B
PLL4-M5 33 | 232|275 137 | 155 | 8 M5X0.8 2
PLL4-01 4 135 | 284 | 327 | 8 13.7 | 155 | 10 PT1/8 4
PLL4-02 16.1 | 31.6 | 35.9 137 | 155 | 14 PT1/4 4
PLL6-M5 3.3 | 245 | 30.1 138 [ 162 | 8 M5X0.8 2
PLL6-01 6 135 | 297 | 353 | 10 | 139 | 165 | 10 PT1/8 4
PLL6-02 16.1 | 32.9 | 385 14 | 157 | 14 PT1/4 4
E PLL8-01 145 | 37 | 444 202 | 226 | 10 PT1/8 5
c PLL8-02 8 181 | 38.1 | 455 | 136 | 20 | 225 | 14 PT1/4 5
PLL8-03 16.6 | 376 | 45 201 | 225 | 17 PT3/8 5
ala 6 T[T Y PLL10-02 196 | 45.2 | 54.2 241 | 276 | 15 PT1/4 8
SIS ; PLL10-03 10 | 196 | 453 | 543 | 16.7 | 242 | 276 | 17 PT3/8 9.8
177 'f PLL10-04 22 | 476 | 56.6 243 | 275 | 21 PT1/2 9.8
T T 7] PLL12-02 196 | 47 | 573 248 | 289 | 15 PT1/4 8
PLL12-03 12 | 196 | 471 | 57.4 | 19.7 | 249 | 289 | 17 PT3/8 9.2
o L | | ~ PLL12-04 22 | 49.4 | 59.6 25 | 288 | 21 PT1/2 9.2
< I
" U

Metric thread type
DHIFEI

PL L B

NI Long Elbow

=ese,......

2 st EHME A3 e
PLL4-M5-NI 33 | 232|275 134 | 152 | 8 | m5%x08 | 2
PLL4-01-NI 4 | 135 | 284|327 | 8 [134 [152 | 10 PT1/8 4
PLL4-02-NI 16.1 | 31.6 | 35.9 134 | 152 | 14 PT1/4 4
PLL6-M5-NI 3.3 | 245 | 30.1 133 | 16 | 8 | mM5%X08 | 2
PLL6-01-NI 6 | 135|297 353 | 10 [134 | 16 | 10 PT1/8 4
E PLL6-02-NI 16.1 | 32.9 | 385 135 | 16 | 14 PT1/4 4
c PLL8-01-NI 145 | 37 | 444 19.2 [ 215 | 10 PT1/8 5
PLL8-02-NI 8 | 181 | 381|455 | 136 | 19 | 215 | 14 PT1/4 5
ala 6 17 PLL8-03-NI 16.6 | 37.6 | 45 191 | 215 | 17 PT3/8 5
SIS | PLL10-02-NI 19.6 | 452 | 542 231 | 266 | 15 PT1/4 8
1% PLL10-03-NI | 10 | 196 | 453 | 54.3 | 16.7 | 232 | 26.6 | 17 PT3/8 | 98
T 1T T PLL10-04-NI 22 | 476 | 56.6 233 | 266 | 21 PT12 | 98
PLL12-02-NI 19.6 | 47 | 573 233 272 | 15 PT1/4 8
onl I m) = PLL12-03-NI | 12 | 196 | 47.1 | 57.4 | 196 | 233 | 272 | 17 PT3/8 | 9.2
PLL12-04-NI 22 | 494 | 59.6 233 | 272 | 21 PT12 | 9.2
< T <
. .U
Metric thread type
ARIZFRR

NI 2 ERREE NI:Release Ring (Metallic Body)




FE #E3EFE (A) Tube Fitting (Ivory)

P E R
Long Elbow

cao AT

B8R BEIME MEILE
PLLA-M5-W 33 |232 | 275 137 [155 | 8 |M5x0.8 | 2
PLL4-0t-W | , [135 [284 [ 327 | 4 [137 [155 [ 10 |[PTUB | 4
PLL4-02-W 161 | 31.6 | 35.9 137 [155 | 14 | PT14 | 4
PLL6-M5-W 33 | 245 | 301 138 [162 | 8 |M5x0.8 | 2
PLL6-O1W | o | 135 |297 [ 353 | 4o [139 [165 [ 10 [PTUB | 4
c PLL6-02-W 16.1 | 32.9 | 385 14 | 157 | 14 |pTia | 4
N PLL8-01-W 145 | 37 | 444 202 | 226 | 10 | PT1/8 5
alo é} CYN PLLB-02W | g | 181 [38.1 | 455 |136 | 20 |225 [ 14 | PT14 5
SN 1T 10 PLL8-03-W 166 | 376 | 45 201 | 225 | 17 | PT3s 5
=il PLL10-02-W 196 | 452 | 54.2 241 | 276 | 15 | PT14 | 8
PLL1003W| 1o | 196 |453 | 543 | 167 |242 | 276 | 17 | PT38 | 08
OH// ol = PLL10-04-W 22 |476 | 566 243 | 275 | 21 |pTi2 | 98
PLL12-02-W 196 | 47 | 57.3 248 | 289 | 15 |PT14 | 8
PLL12-03W| 1o | 196 |47.1 | 574 | 196 |249 289 | 17 [PTam | 92
_;{ T < PLLA2-04-W 22 |494 | 596 25 | 289 | 21 |PTI2 | 92
R =

Metric thread type
NHIFE

&R
Long Elbow

PL L

NI

st o

B R BHME MEFLE
PLL4-M5-NI-W 33 |232 275 134 [ 152 | 8 |M5x0.8 2
PLL4-O1-NIW | 4 | 135 |284 | 327 | 8 [134 |152 | 10 |PTI8 4
PLL4-02-NI-W 16.1 | 316 | 35.9 134 [ 152 | 14 | PT1/4 4
PLL6-M5-NI-W 3.3 [245 | 301 133 | 16 | 8 [M5x0.8 2
E PLL6-01-NIW | 6 | 135 [297 | 353 | 10 [ 134 | 16 | 10 | PTI8 4
c PLL6-02-NI-W 16.1 |32.9 | 385 135 | 16 | 14 | PT1/4 4
OUIT - -1 PLL8-01-NI-W 145 | 37 | 444 192 [ 215 | 10 | PTI/8 5
alo é} CN PLL8-02-N-W | 8 | 181 |381 | 455 | 136 | 19 |215 | 14 | PT1/4 5
| oo PLL8-03-NI-W 16.6 |37.6 | 45 191 | 215 | 17 | PT3s8 5
= PLL10-02-NI-W 196 |452 | 54.2 231 | 266 | 15 | PT1/4 s
PLL10-03-N-W| 10 | 196 [453 | 543 | 167 | 232 |266 | 17 |PT3/8 | 98
OH,/ o = PLL10-04-NI-W 22 [47.6 | 566 233 (266 | 21 | PT12 | 98
PLL12-02-NI-\W 196 | 47 | 57.3 233 272 | 15 | PT14 8
PLL12-03NIW| 12 | 196 [47.1 | 57.4 | 196 | 233 |272 | 17 | PTas | 92
_;{ T < PLL12-04-NI-W 22 | 494 | 596 233 272 | 21 |pPT12 | 92
R =

Metric thread type
NHEIFE

(17553 Note N[BT NI:Release Ring (Metallic Body)






